This is a Java utility that can generate the words representing a number, the ordinal suffix (1st, 2nd, 3rd) of a number, or the words representing the ordinal form of that number.  This utility is capable of handling all positive numbers on the range [0, 10304). The purpose of this class is to be used by other programs.
package djk.numberWords;

public class NumberWords {


private static String[] singles = new String[] {"zero", "one", "two", "three", "four", "five", "six", "seven", "eight", "nine"};


private static String[] teens = new String[] {"ten", "eleven", "twelve", "thirteen", "fourteen", "fifteen", "sixteen", "seventeen", "eighteen", "nineteen"};


private static String[] tens = new String[] {"twen", "thir", "four", "fif", "six", "seven", "eigh", "nine"};


private static String[] soloSuffixes = new String[] {"thousand", "million", "billion", "trillion", "quadrillion", "quintillion", "sextillion", "septillion", "octillion", "nonillion"};


private static String[] helperSuffixes = new String[] {"", "un", "duo", "tre", "quattuor", "quin", "sex", "septen", "octo", "novem"};


private static String[] tensSuffixes = new String[] {"decillion", "vigintillion", "trigintillion", "quadragintillion", "quinquagintillion", "sexagintillion", "septuagintillion", "octogintillion", "nonagintillion", "centillion"};


private static String[] ordinalSingles = new String[] {"zeroth", "first", "second", "third", "fourth", "fifth", "sixth", "seventh", "eighth", "ninth"};


private static int intFor(char digit) {



//This method returns the int that "digit" stands for.  This method is simply a helper method.



//This method uses the fact that the ASCII value of '0' is 48, and that the characters '1' - '9' follow consecutively in numeric order.



return (int)digit - 48;


}


public static String expressionFor(String number) {



//This method converts the digital form of a number to its word form.



//Can only handle integers from 0 to 10^304 - 1



boolean numberIsStarted = false;



boolean currentTripleIsPresent = false;//Makes sure that suffixes (like "thousand" and "million") are not added to nonexistent triples. example: "4000000"



//int extraChars = 0;



String output = "";



int i = 0;



while(i < number.length()) {




if((number.length() - i + 3) % 3 == 0) {//This block handles hundreds





if(number.charAt(i) != '0') {






if(numberIsStarted) output += " ";






output += singles[intFor(number.charAt(i))] + " hundred";






numberIsStarted = true;






currentTripleIsPresent = true;





}





i += 1;




}




boolean handlingTens = false;




if((number.length() - i + 3) % 3 == 2) {//This block handles teens and tens





if(number.charAt(i) == '1') {






if(numberIsStarted) output += " ";






output += teens[intFor(number.charAt(i + 1))];//Should this be handled here?






numberIsStarted = true;






currentTripleIsPresent = true;






i += 1;





} else if(number.charAt(i) != '0') {






handlingTens = true;






if(numberIsStarted) output += " ";






output += tens[intFor(number.charAt(i)) - 2] + "ty";//"ty" is added to complete the word.






numberIsStarted = true;






currentTripleIsPresent = true;





}





i += 1;




}




if((number.length() - i + 3) % 3 == 1) {//This block handles singles (if they're not part of a "teen" expression)





if(number.charAt(i) != '0' || (!numberIsStarted && i == number.length() - 1)) {






if(handlingTens) {







output += "-";






} else if(numberIsStarted) {







output += " ";






}






output += singles[intFor(number.charAt(i))];






numberIsStarted = true;






currentTripleIsPresent = true;





}





i += 1;




}




if(currentTripleIsPresent && number.length() - i >= 3) {//This block adds the appropriate suffix to the current triple.





int degree = (number.length() - i) / 3 - 1;





if(degree / 10 == 0)






output += " " + soloSuffixes[degree];





else






output += " " + helperSuffixes[degree % 10] + tensSuffixes[degree / 10 - 1];




}




currentTripleIsPresent = false;



}



return output;


}


public static String ordinalExpressionFor(String number) {



//This method converts the digital form of a number to its ordinal word form.



//Can only handle integers from 0 to 10^304 - 1



String output = "";



if(number.length() > 2)




output += expressionFor(number.substring(0, number.length() - 2) + "00");



boolean numberIsStarted = output.length() > 0;



char onesChar = number.charAt(number.length() - 1);



char tensChar;



if(number.length() > 1)




tensChar = number.charAt(number.length() - 2);



else




tensChar = '0';



boolean suffixNeeded = true;



if(tensChar == '1') {




if(numberIsStarted)





output += " ";




if(onesChar == '2') {





output += "twelf";//The word "twelfth" is an exception.




} else {





output += teens[intFor(onesChar)];




}



} else {




boolean tensPresent = tensChar != '0';




boolean onesPresent = onesChar != '0';




if(tensPresent) {





if(numberIsStarted)






output += " ";





output += tens[intFor(tensChar) - 2];





if(onesPresent)






output += "ty-";//"ty" is added to complete the word.





else






output += "tie";//"tie" is added to complete the word.  (the "th" will be added later)





numberIsStarted = true;




}




if(onesPresent || !numberIsStarted) {





if(numberIsStarted && !tensPresent)






output += " ";





output += ordinalSingles[intFor(onesChar)];





suffixNeeded = false;




}



}



if(suffixNeeded)




output += "th";



return output;


}


public static String ordinalSuffixOf(String number) {



String output = null;



char lastChar = number.charAt(number.length() - 1);



if((int)lastChar >= 49 && (int)lastChar <= 51 && (number.length() < 2 || number.charAt(number.length() - 2) != '1')) {




if(lastChar == '1') {





output = "st";




} else if(lastChar == '2') {





output = "nd";




} else if(lastChar == '3') {





output = "rd";




}



} else {




output = "th";



}



return output;


}

}

